Tor—hER

Sm(AN) 25 25 18 18 32 118
BIZEH(N) 15 21 12 16 31 95
BIZE (%) 60 84 67 89 97 81
188 20H 21H 22H 24H =11
BiEih 95
iz 10 7 0 1 15 33
iz LASY 2 11 9 12 10 44
T 5% 3 3 3 2 7 18
FK 96
10T 0 0 0 0 0 0
204% 1 1 0 5 3 10
301K 2 5 2 1 4 14
4018 5 7 5 7 9 33
501% 4 6 4 1 8 23
601t 3 2 1 1 6 13
708 LU E 0 0 0 1 2 3
SMX 5 102
EFR 9 9 7 12 17 54
ETNEEE 7 12 5 1 8 33
ETNNEEXRSE 3 3 1 2 15
SmoE>mIT 96
528 9 12 5 5 16 47
HP 2 6 1 4 3 16
i 2 0 0 7
ZDith 2 6 8 26
IRA—TSZD\T 95
HFTEDS 13 15 6 9 20 63
HAFFTEREL 1 1 2 2 2 8
HHBELN 1 5 9 24

B HECEA VA AR




